PoE+R AV FHE16CHAR YR I—VE THLa—5 —

XRN-1610KSN

FRTRATVIOBRARA

B K16CH, 12AHE VL A D ATHR—
» Bx X 180Mbps SR IE] w12

-HDMI 4KH A

TaATILEZS—

-H.265, H.264, MUPEGIE &

- NEHDD X 4

PoE/PoE+H7R—k

* LR NRIEFELGLICEERETHEAHYFET

[4H45)
BN INTH—R
BR {5 AR MAX16 CH FRL—FAV T O RT L Linux
fRIGE CIF~12M EE2d [£#E H.265. H.264, MUPEG
Jokaj Samsung, ONVIF (E B {E#EE2) 283EwkL—k 180Mbps
547  O—HhHLEZS—HDMIAA-VGAAA (FaF7ILE=E—) FRIE fRGE CIF~12M
TaT7ILEE  —0—>:HDMI-VGARILEIE TH B K FE) A7 T2— )L GEH/ANUE)
IH /UK HDMIF AV H A ARV (T /RRR)
VGAILSPOTHERE ARVRN)H— FS—LAK@.EFAAR
(BAEE,1,2,49,16 {FECHZZER) HASARUN (T S5—LARE—Iav R, ETH5H)
AKE—F 3840 x 2160 (L5 ILE=ZA—BDHER) ARURT IS aL E-Mail, PTZTyb 75—LH A TV — E=4—HH
TILFHY—>  EEME. 2V, 3V,.4.6,8,9,13,16, o —45 2R BE BEFEE 32Mbps (16CHIFE )
INTA—I X 12M(30fps) . 8M(120fps) . 5SMP (180pbs) . INTH—I VR 41— —(B—Hh)L1,JE—R3)
3MP (240fbs) . 2MP (480fbs) . 720p (480fps) H—FE—F  B/ER ARV
D1 (480fps) FBEE MAX16CH(H—#JLE=42—., CMS)
AB—DTT(R fRGE CIF~12M
ER A—HFvbk RJ-45,Gigabit X 2(LAN/WAN) BAWEE BIE/#EY . TVRTYT /B0
USB USB3.0x 1 (). USB2.0 X 1 (FiTE) AL—Y AEHDD #HASTB HRXK6TB x4
E-SATA 1R—k PRIR iSCSIRkL—Y
BT HR NyoT7vT Tr4ILFX  BUNVREAE). EXE(FLAY¥—MWE) . JPEG(AVI)
i AHh 100~ 240VAC. 50/60Hz oY — A/H 8/4(NO/NG;EIR)
HEEAN MAX271.9W(6TB X 4, PoE ON) B AR HASA~ A H (MAX32CH)
MAX51.9W (6TB X 4, PoE OFF) Hh 1
POER KA E 2220W EHE G.711/726/AAC
R EERE +0°C~+40°C &g WA E
EEIRE 20%~85%RH rykI—H
Hh5—/#E TS99/ A8)L Zaran TCP/IP. UDP/IP, DHCP, PPPoE, SMTP, NTP, HTTP
stk (WX HXD) 440.0 X 88.0 X 384.8mm DDNS. RTP, RTSP, ICMP, GMP, ARP
g8 5.1kg DNS. uPnP. HTTPS, SNMP, ONVIF (Profile-S)
DDNS iPOLiS DDNS
BRERE MAX256Mbps (iSCSIA 7). 128Mbps(iISCSIA>)
MAX1—#'—%§ H—F@Q), SATLZH v (10), TILFFrRM20)
P IPv4/IPv6
tXal)Tq IP7RLRIAIWAYD Y A—H—TH+RAY
T 13 AARELZET (24558)
0s Windows7, 8, 10 MAC 0S 10854t
IS4 IE11,Firefox43LL £, Chromed47Ll £ Safariobl b 7#3&
Ea—7— SSM, WebE 12— —  A¥—hE 21—, T4 X1 YRE/NASIL
HEaE
N NASHE B BEHE—F. FHEF
= = HEEE IP7RLA. Evkl—F. [Efif. GOP. EH. BEHELE
= = RAY—T+Y ETFIL Android. i0S
3= il SAT10/B43
m | BE <R NEIY

== @

440.0(17.32") ‘




